,’:9\
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LK ERTE W S:N

4

8% + 4x% + 20 + 3(7x% + )

Tx— 6x— 5% + Ox + 7x°

3(3x2 — 3x3) — X = Tx—6x°

9% — 8x+ 9x + 5x% — 2x°

6x° — 6x° — 4(6x — 4x2) — 5x°

H #A:

6x° + 8x% —x° — 2(7)(3 - 2x2)

S0+ 3x+ 60 — 3(2x — Tx)

Sx° — 7% — 9x — 2(6x2 + 5x)

8x% + 8x° — Ox — 4x* — 5x

2(8x% + 2x%) +x— 6x — 3x°
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G2 H -
8% + dx” + 2" + 3(7x7 +x) 6 + 8 —x” — 2(7x° — 2x7)
35x% + 3x —8x° + 112
Tx— 6x— 58 + 9x + 7x° 57 + 3x + 6x3—3(2x—7x)
2 + 10x 11x° + 18x
3(3x2 — 3x3) — x> = Tx— 6x? 52— 7 —9x — 2(6x2 + 5x)
—100° + 32 — Tx —7x> — T — 19x
9x> — 8x + 9x + 5x — 2x2 8x* + 8x° — 9x — 4x? — 5x
O + 3% +x 8x° + 4% — 14x
6x° — 6x° — 4(6x — 4x°) — 5x° 2(8x% + 2x%) + x — 6x— 3x?
11x* — 24x 17x% — 5x
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